 

In a nutshell...heating and cooling degree days all revolve around the temperature of 65 degrees.  That is considered the comfort house temperature.
 

Here is how it works...lets say the high was 30 and the low was 20.  To figure out the "heating degree days" you add 30+20=50.  Now you divide by 2 to get the average temperature.  (25).  Now you subtract the 25 from 65 and voila...you have 40 for the heating degree number.
 

Cooling degree days work the same way but cooling your house.  So you do the same but subtract the 65 from your calculated number.  Make sense?  That is a good question.  Maybe I should start a segment called "Great question"  Ha, ha.
 

